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18065

B.B.A. Vth Semester Examination, Nov., 2019

INDUSTRIAL LAW
(BBA-505)

Time : 3 Hrs. | [MM. :75

Note :— Attempt questions from all Sections as per

instructions.
Section-A
(Very Short Answer Type Questions) 3x5=15

Note - Aucmpt all the five questions. Each question carries
3 marks. Very short answer is required not

exceeding 75 words.
1. Define ‘Factory’.

2. Who 1s permanent partial disable ?

ND-192 (1) +  TumOver
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3. Define average pay under Industrial Dispute Act,

1947,

4. Explain the term employment injury under the

Employee’s State Insurance Act.
5. Explain the term ‘Benefit Period’.
Scction-B
(Short Answer Type Questions) 7'2x2=15

Note :— Attempt any rwo questions. Each question carries
72 marks. Short answer is required not exceeding

200 words.

6. A worker working in a shed was injured by the
wall of a wall which was not the property of

employer. Is worker entitled to get compensation ?

7. What is difference between Lockout and Suspension

of Work ? https://mwww.ccsustudy.com

8. Enumerate such persons who have been expressly

declared not as workers.

ND-192 (2)
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Note :— Attempt any rhree questions. Each question carrics
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Section-C

(Long Answer Type Questions)  15x3=45

15 marks. Answer is required in detail.

9. What arc the provisions of Indian Factory Act with
mgards to ‘Welfare’ of workers 7

10. When is an  employer liable for paying
compensation to a workman under the Workmen
Compensation Act ? State the circumstances in
which the employer is not liable. -

| I. Whatare the provisions in respects of claims and
penalties under Minimum Wages Act 7 What is the
procedure thercof ?

12. Give a detailed note on State Insurance Fund. For
what purposes it can be spent ?

13. What is Gratuity ? Write a note on ‘Payment of
Gratuity Act’.

ND-192 (3)
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A Roll NO. v,
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Total Questions : 13 ] [ Printed Pages : 3

18066

B.B.A. Vth Semester Examination, Nov., 2019

COMPUTER FUNDAMENTAL
(BBA-506)

Time : 3 Hrs. ] [ MM :75

Note :~ Attempt all the Sections as per instructions.
Section-A
(Very Short Answer Type Questions) 3x5=15

Note :— Attempt all the five questions. Each question carries
3 marks. Very short answer is required not
exceeding 75 words.

1. What is microprocessor ?
2. What is the base of a number system ?

3. Write some key features of unicode.
ND-193 (1) ' Tum Over

https://www.ccsustudy.com
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4. What happens when a computer divides a number
by zero ?
5. How ‘IC’ helps in reducing the size of a
computers ?
Section-B
(Short Answer Type Questions)  7Vax2=| Y
Note ;— Attempt any fwo questions out of the following
three questions. Each question carries 7% marks.
Short answer is required not exceeding 200 words.
6. What is a cache memory ? How is it different from
a primary memory ?
7. Why do most compuler sysiem use secondary
storage ?

8. What is a disk pack ? How data is organized and

wod Apmsnsad mmm// sdny
Wwod ApmIsnsad mmm//sdny

accessed from a disk pack ?

Section-C
(Long Answer Type Questions) 15)(3:45‘

Note -~ Attempt any three questions out of the following

five questions. Each question carries 15 marks.

Answer is required in detail.

ND-193 (2)
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9. What is a flash drive (Pen drive) ? How does a

uscr connect it to a computer 7 Wnite its features

and typical uses.
10. Write short notes on the following :
(i)  Vision-input system
(i) - Optical Mark Reader (OMR)
(i) Optical Character Recognitions (OCR)
11. Differeptiate among hardware, software, firmware
and middleware,

12. What is a program-planning tool ? How is 1t
useful 7 Name three commonly used program-

planning tools,

13. Write a suitable example to illustrate the concept
of object, class and inheritance used in object
oriented programming languages.

Or

What is the intermet ? Write the advantages and
disadvantages of ¢-mail services as compared to fax

service.

ND-193 (3)
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A RON NO. oo,
(21119)

Total Questions : 13 ] [ Printed Pages : 4

18064

B.B.A. Vth Semester Examination, Nov., 2019
(;OST AND MANAGEMENT

ACCOUNTING
(BBA-503)
Timme : 3 Hrs. | [ MM. : 75
Note :— Attlempt questions from all Sections as per
instructions.
Section-A

(Very Short Answer Type Questions) 3x5=15
Note :— Attempt all the five questions. Each question carries
3 marks. Very short answer is required not
exceeding 75 words.
l. What do you mean by Indirect Expenses ?

2. What do you mean by Differential Piece Raie
System ?

ND-191 (1) Tum Over

https://www.ccsustudy.com
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3. What is work in progress ?

4. Write any swe functions

Accounting.

of Management

5. What do you mean by Marginal Costing ?

Section-B
(Short Answer Type Questions) 7%x2=15

Note :— Attempt any rwo questions. Each question carries(

72 marks. Short answer is required not exceeding

200 words.

6. S. Lid. manufactures product ‘TRINCO'. The
figures given below relate to six months ending

30th June, 2017 and to the following six months
ending 31st Dec., 2017 :

Units of “TRINCO’ 30th June, | 31st Dec.,

2017 2017
Produced 30,000 8,000
Sold 15,000 23,000
Variable cost per unit T 1.00 T 1.00
Fixed cost 3 25,000 T 25,000

The selling price has been fixed at 2.50 per unit.

You are required to show profit and loss are by

marginal approach.

ND-191

(2)

https:/fwww.ccsustudy.com
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7. What do you mean by Apportionment and 13. Bhaita Ltd. manufactures three components the cost

Absorption of Overheads ? of which is as follows :

8. Define the term ‘Cost Sheet'. Components
Section-C Elements of Cost A B ¢
(Long Answer Type Questions) 15x3=45 Q) Q) )
Note :— Attempt any three questions. Each question carries Direct Material 10 8 12
( 15 marks. Answer is required in detail. Direct Labour 8 4 5
— 9. What do you understand by the term ‘Cost’ ? - o Vanable Overhead 2 4 3
P_’é_" Elp]qlﬂ the different clements of Cost. "§ "§ Fixed Overhead 5 ) 10
z 10. A worker takes 9 hours to complete a job on daily =) = Total cost 25 18 30
= wages and 6 hours on a scheme of payment by g g ‘
£ . . . = = Output per machine
o results. His day rate is ¥ 1.50 an hour. The matgrial o Q
% cost of the product is T 4. Overheads are recovered § é hour (units) I 5 3
ED: at 150% of the total direct wages. Calculate the i:]: iﬂi The key factor is a shortage of machine capacity.
< e . : . .
g factory cost of the product under : o g You are to present a report to. the management of
= (i) Piece Work Plan = =

the company showing whether it should continue
(ii) Halsey Plan to manufacture these components (which are used
(i) Rowan Plan in its main product) or whether it should buy them
from a supplier, who has quoted the following

(' 11. What are Cost Sheets ? What are their advantages ? _
prices : A=330,B=%15 C =7 25.

How do they differ from a cost account 7

12. Give an account of the evolution of management
accounting as a separate branch of accounting,

ND-191 (3) Tumn Over’ ND-191 (4)
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A Roll No. ...
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Total Questions : 13 ] [ Printed Pages : 3

18062

B.B.A. Vth Semester Examination, Nov., 2019

ENTREPRENEURSHIP AND SMALL
BUSINESS MANAGEMENT

(BBA-501)

Time : 3 Hrs. | [ MM. : 75

Note .- Attempt questions from all Sections as per
- instructions.
Section-A
(Very Short Answer Type Questions) 3x5=15

Note :— Auempt all the five questions. Each question cames
3 marks. Very short answer is required not

exceeding 75 words.

ND-189 (1) Turn Over

https://www.ccsustudy.com
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1. Define four psychological barriers faced by women

entrepreneurs,

i

What is structure of EDP ?
3. What do you understand by the term “SWOT” 2
4. Desenbe rwo limitations of CPM,
5. How short-term capital is different from Venture
Capital ?
Section-B
(Short Answer Type Questions) 7%x2=15

Note :— Autempt any nvo questions out of the following
three questions. Each question carries 7% marks,
Short answer is required not exceeding 200 words.
0. Define brefly the highlights of Government Policy,

1991 to Support SSls.

7. Definc the process of registration and licensing of

small industry.

8. Define the qualitics of effective leadership.

ND-189 (2)
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Note :— Auempt any rhree questions out of the following

9. What do you understand by term ‘Entreprencur-
ship’?  Define  the need and scope of
entreprencurship with special reference to India.

10. Define Entreprencurial Training. What are its
objectives and importance ?

[L. “Small enterprises do contribute in economic
development, but there are many difficulties in their
path.” Comment on it.

12. Explain the factors that influence the fixed capital
requirements of an enterprise.

13. Define the various steps of PERT, What are its
advantages and limitations 7

ND-189 (3)

https://www.ccsustudy.com

Section-C

(Long Answer Type Questions)  15x3

five questions. Each question camies 15 marks.

Answer is required in detail.

https://www.ccsustudy.com

wod Apmsnsad mmm// sdny



wod ApmIsnsad mmm//sdny

https://www.ccsustudy.com https://www.ccsustudy.com

A ROl NO. eevieeeciniiinninrnenns 3. Casual Income. .
(21119) Distinguish between exemptions and deductions
Total Questions : 13 ] [ Printed Pages : 4 under Income Tax Act.
3. Explain the Assessment Year.
Section-B

(Short Answer Type Questions) 7Vx2=15
18063

Note :— Attempt any mwo questions. Each question carries (
72 marks. Short answer is required not exceeding

B.B.A. Vth Semester Examination, Nov., 2019 200 words.

= =
INCOME TAX LAW AND ACCOUNT < "2 6. Define Agricultural Income. State with example
(BBA-504) j i: how is tax computed on agricultural income.
é § 7. Discuss the provisions of Income Tax Act
Time : 3 Hrs. | [ MM. : 75 - é regarding exemption of following incomes :
]
. = ] e ] . .
Note :— Auempt questions from all Scctions as per i i (f) Gratuity
nstruclions. \ é‘ é_ (n) House Rent Allowance
Section-A Py « 8. Define Transfer. What are the transactions which
% g are not regarded as transfer for computation of

(Very Short Answer Type Questions) 3x5=15 capital gains ?

Note :— Atiempt all the five questions. Each question carries Section-C
3 marks. Very short answer is required not (Long Answer Type Questions) 15x3=45 (
cxceeding 75 words. Note :— Attempt any three questions. Each question carries
I. Distinguish between ‘Tux Planning and Tax 15 marks. Answer is required in detail.
Evasion’. 9. Tax liability depends upon the residential status of

. an asscssee. Explain in detail.
2. Define Asscssee. p

ND-190 (1) Turn Qver ND-190 {2)

' N S .
https://www.ccsustudy.com https:/fwww.ccsustudy.com
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10. Explain the provisions of the Income Tax Act in
the cases :

(1) Deduction U/S 80D
(i) Deduction U/S 80TTA
(in) Deduction U/S 80U

11. The particulars of Mr. Manoj's income are as
follows :

(i) Salary (after deducting ¥ 48,000 for income
tax at source) T 3,60,000 p.a.

(1) Dearness allowance (under the terms of
¢mployment) ¥ 42,000 p.a.

(i) Education allowance (for 3 children)
T 15,700 p.a.
(iv) Medical allowance (actual medical

expenditure ¥ 14,000) ¥ 37,200 p.a.

(v) Rent free house (in Jaipur) the company paid
T 8,000 per month as rent the house is
furmished and the rent of fumiture is ¥ 25,050
p.a. https:/www.ccsustudy.com

(vi) A domestic servant, a sweeper and a watch-
man were paid by the company T 1,250 per
month ¢ach.

(vi)) Expense of ¥ 8,000 borne by the company
for refresher course.

(viit) His contribution to R.P.F. ¥ 31,000 and
employer’s contribution ¥ 36,000,

ND-190 (3)

https://www.ccsustudy.com
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ND-190
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(1x) The company has provided a free telephone
at Mr. Manoj's residence and pmd  bill
amounting to ¥ 8,000.

tax € 7,000. He
Income tax return. Compute taxable income
from salary for the assessment year 2019-20,

(x) Professional furmishes

. Mr. A purchased a residential house for ¥ 50,000

in 1970. He spent T 20,000 on this house in 1974,
Part of the house was let out for a rent of T 600
per month. He entered into an agreement of sale
ol this house with Deepak in 1987-88 and sale
value fixed was ¥ 1,00,000. But the deal could not
be finalised because Mr. Deepak could not pay the
amount. Mr. A forfeited the advance amount of
¥ 5,000 received from Deepak. Mr. A got a new
floor constructed in 2003-04 for T 30,000, He sold
this housc on 15.07.2018 for ¥ 11,00,000 and paid
2% brokerage. Fair market value on 01.04.2001 was
T 80,000. Calculate capital gains for the assessment
year 2019-20. Cost inflation Index : 2001-02-100:,
2003-04-109; 2018-19-280.

. Discuss the provisions of set-off and carry forward

and of the following losses :
(1)  Loss from business
(i) Short-term capital loss

(1) Loss from lotlery

(4)

https:/fwww.ccsustudy.com

wod Apmsnsad- mmm// sdny



=

wod ApmIsnsad mmm//sdny

https://www.ccsustudy.com

A Roll No. ..o
(21119)

Total Questions : 13 ] [ Printed Pages : 3

18065

B.B.A. Vth Semester Examination, Nov., 2019

INDUSTRIAL LAW
(BBA-505)

Time : 3 Hrs. | [MM. :75

Note :— Attempt questions from all Sections as per

instructions.
Section-A
(Very Short Answer Type Questions) 3x5=15

Note - Aucmpt all the five questions. Each question carries
3 marks. Very short answer is required not

exceeding 75 words.
1. Define ‘Factory’.

2. Who 1s permanent partial disable ?

ND-192 (1) +  TumOver

https://www.ccsustudy.com
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3. Define average pay under Industrial Dispute Act,

1947,

4. Explain the term employment injury under the

Employee’s State Insurance Act.
5. Explain the term ‘Benefit Period’.
Scction-B
(Short Answer Type Questions) 7'2x2=15

Note :— Attempt any rwo questions. Each question carries
72 marks. Short answer is required not exceeding

200 words.

6. A worker working in a shed was injured by the
wall of a wall which was not the property of

employer. Is worker entitled to get compensation ?

7. What is difference between Lockout and Suspension

of Work ? https://mwww.ccsustudy.com

8. Enumerate such persons who have been expressly

declared not as workers.

ND-192 (2)

https://www.ccsustudy.com
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Note :— Attempt any rhree questions. Each question carrics
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Section-C

(Long Answer Type Questions)  15x3=45

15 marks. Answer is required in detail.

9. What arc the provisions of Indian Factory Act with
mgards to ‘Welfare’ of workers 7

10. When is an  employer liable for paying
compensation to a workman under the Workmen
Compensation Act ? State the circumstances in
which the employer is not liable. -

| I. Whatare the provisions in respects of claims and
penalties under Minimum Wages Act 7 What is the
procedure thercof ?

12. Give a detailed note on State Insurance Fund. For
what purposes it can be spent ?

13. What is Gratuity ? Write a note on ‘Payment of
Gratuity Act’.

ND-192 (3)

https://www.ccsustudy.com
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A Roll NOw oo 3. Write a short note on Profit Management.
(21119) :
4. Describe main features of Perfect Competition.,
Total Questions : 13 ] [ Printed Pages : 4
5. Discuss the scope of Managenal Economics.
Section-B
1 8061 (Short Answer Type Questions) 7Yx2=15 (
B.B.A. Vth Semester Examination, Nov., 2019 Note :— Attempt any two questions, Each question carries
MANAGERIAL ECONOMICS 7% marks. Short answer is required not exceeding
(BBA-502) 200 words. )
Time : 3 Hrs. | [ MM. :75 6. A company sells 4000 units of its product at the

Note .- Attempt all questions from all Sections as per rate of ¥ 20 per unit. On the recommendation of

instructions.

%

sales manager, the price of the product is reduced

Section-A to T 16 per unit, as a result of which the demand

wod Apmsnsad- mmm// sdny
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(Very Short Answer Type Questions) 3x5=15 of the product rose to 6000 units. Calculate

Note :— Attempt all the five questions. E: stion carries .
P five q Each question carries elasticity of demand.

3 marks. Very short answer is required not

exceeding 75 words. 7. What do you mean by Law of Returns ?
1. What is meant by clasticity of demand ? 8. Discuss the relationship of Short-run and Long-run
2. Define the term differential cost. Average Cost Curves.
ND-188 (1) Turn Over. ND-188 (2)
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Note :— Attempt any three questions. Each question carries

9.

10.

https://www.ccsustudy.com

Section-C

(Long Answer Type Questions) 15x3=45

I5 marks. Answer is required in detail.

Discuss the main features of Monopolistic
Competition. How can such competition be

sustained ?

Why do Profit Arise ? Discuss the concept of profit

under static and dynamic condition,

11. The Bharat Trading Ltd. manufacture one identical

ND-188 (3) Turn Qver

product ‘Y'. The following figures are available for

two successive years : -

Year I  Year II

) )
Sales 3,00,000 3,60,000
Fixed Cost 90,000 1,20,000
Variable Cost 1,50,000  2,16,000

The directors are interested to know the
Profit-volume Ratio, Break-cven Points and Margin

of Safety.

https://www.ccsustudy.com
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12. “Inflation is an excess of demand of anything over

the supply of everything.” Discuss this statement
and analyse the factors that result in inflation.
13. An investigation into the demand for Coolers in

5 towns has resulted in the following data :

Population of the No, of Coolers
town (in Lakhs) demanded

x ¥

5 45

7 65

8 55

11 75

14 s

Fit a linear regression of y on x and estimate the
demand for Coolers for a town with a population

of 20 lakhs.

ND-188 (4)
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